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(|) BBRTE Answer
1 /(5
(1) 19 1 (11) IZ<Z>
3
(2) 32 (12) 64
(3) 6 (13) 0.47
(4) 111 2 1| a9 190000
(5) 10.36 1516000000 (cm?)
1
(6) 1.63 (16) 56
3 Children i Left over
(7) 1.36 (17) 17 8
(8) 3.4 1| 80XO=[]
= 4
(9) 9 (19) 6
17
(10) 28 5 1] 0) 3

Please fill in the box below.

1 IName Examinee Number

Gender (Check the appropriate box)

Put your sticker Male ] Female [] Age
with the bar code here. Date of Birth (year) (month) (day)
Address

/a0

The Mathematics Certification Institute of Japan




Go ( () ) cm along the length, ( 6 ) cm along

@D | the width and ( 4 ) em along the height.
(22) 7
(23) 3
(24) 26 (%)
21+12=1.75
(25)
(Answer) 1.75 (times)
(26) 16
(27) 45 cm?
(28) 88 cm?
: B
9| 143+5+7+9+11 | 6%6
(30) 10
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